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QUESTION 1

A client from the banking industry operates its IBM Z environment in two data centers with a database of 10 kilometers
(6.2 miles). Each data center has one IBM z14 and one DS8K storage system, which are PPRC enabled. 

Due to regulations, this client has the need to implement a near-continuous availability solution including long-distance
disaster recovery for a new-to-build third site with a new third storage system. 

Which of the following solutions satisfies the requirements? 

A. GDPS Metro Global Mirror 

B. GDPS Metro HyperSwap Manager 

C. GDPS Metro Global – XRC 

D. GDPS Global – GM 

Correct Answer: B 

Reference: https://www.ibm.com/developerworks/community/blogs/accelerate/resource/
GDPS_Update_100317.pdf?lang=en (16) 

 

QUESTION 2

A customer purchased a z14 M02 (two drawer) 710 with 1TB of active memory and 2TB of pre-planned memory
installed. They are planning for the release of a new product which will require, for several days, additional processor
and memory capacity. They have a CIU (Customer Initiated Upgrade) contract already in place. 

Utilizing CIU and OOCoD (On Off Capacity On Demand), which of the following options will satisfy the customer\\'s
requirement? 

A. Temporarily activate twice the amount of owned processor capacity that is present but not characterized in the two
drawers, and purchase increments of the pre-planned memory up to the amount that is present in the two drawers. 

B. Temporarily activate all of the additional processor capacity that is present but not characterized in the two drawers,
and purchase increments of the pre-planned memory up to the amount that is present in 

the two drawers. 

C. Temporarily activate all of the processor capacity that is present but not characterized in the two drawers, and
temporarily add all the additional pre-panned memory increments up to the amount of that is present in the two
drawers. 

D. Temporarily activate twice the amount of owned processor capacity that is present but not characterized in the two
drawers, and temporarily add up to twice the amount of the active memory using the pre-planned memory in the two
drawers. 

Correct Answer: A 

 

QUESTION 3
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Due to recent data protection legislation, your client has asked how to protect the integrity of their z/OS audit records. 

What system function should be recommended? 

A. Pervasive Encryption 

B. zSecure Audit 

C. Crypto Express adapter 

D. Signed SMF data 

Correct Answer: A 

Reference: https://www.google.com/url?
sa=tandrct=jandq=andesrc=sandsource=webandcd=9andved=2ahUKEwjhlanup43mAhUvsaQKHf0KCcoQFjAIegQIBRA
Candurl=https%3A%2F%2Fwww.ibm.com%2Fdownloads%2Fcas%
2FPLERXQDQandusg=AOvVaw23CLCcjsZJ3CmdxQFan2Wr 

 

QUESTION 4

Which of the following is used to consolidate host channels on an IBM z14? 

A. CFSIZER tool 

B. FICON Aggregation analysis 

C. Fit for Purpose study 

D. zBNA tool 

Correct Answer: D 

 

QUESTION 5

A client has a production data center and disaster recovery data center separated by more than 300 km. 

What level of recovery can they achieve by using GDPS/GM (Global Mirror)? 

A. RPO = 0, RTO = 0 

B. RPO = 0, RTO > 0 

C. RPO > 0, RTO = 0 

D. RPO > 0, RTO > 0 

Correct Answer: D 

Reference: https://www.ibm.com/downloads/cas/RJNOXAGZ 
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